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1. '{N(t), t ≥ 0}
×?±Ä�, Õ¾ û
{Xn, n ≥ 1}, |F
�!5µÐó,

F (0) = 0��M(t) = E(N(t))��JM(t) = F (t) +
∫ t

0
M(t− x)dF (x)�

2. b×�Ù, ±ÝWõ
á�Ù�>£
α > 0, N×WõÒ��Ù�>£
µ > 0�
�X(t)�` t3�Ù�Wõó, X(0) = i�ê�G(z, t) =

∑∞
j=0 pij(t)z

j, |z| ≤ 1, t ≥ 0,

Í�pij(t) = P (X(t) = j|X(0) = i)�

(i)�JG(z, t) = (1 + (z − 1)e−µt)
i
exp {α

µ
(z − 1)(1− e−µt)}�

(ii)�Ot →∞`, X(t)�Á§5µ�

3. 'N = {N(t), t ≥ 0}
×?±Ä�, vµ = E(X1) < ∞, Í�X1
Ï×ÍÕ¾ 

û��n
×ü�ÑJó�'©�P (N(t) = n) > 0, JE(γt|N(t) = n) = C, C
×ðó,

∀t > 0��JN
×Poisson Ä��

4. 'N1 = {N1(t), t ≥ 0}, N2 = {N2(t), t ≥ 0}
Þ}ñÝ?±Ä�, vN1, N2�Õ¾ û

5½b¢óλCµ�¼ó5µ��N(t) = N1(t) + N2(t), t ≥ 0��JN = {N(t), t ≥ 0}

×Poisson Ä�, ¬X�ÍÕ¾ û�5µ�

5. 'b×¢ó5½
λCµ�M/M/∞���Ù��X(t)�y` tÑ����)�ó,

t ≥ 0��Ot →∞`, X(t)�Á§5µ�
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